% 5

H &f44 45 1H
£ S5 3A31H

NPOVE A [t | Ly VAT A R 2

[ L1 T+ X o488




NPO#E A fif] | L1 A AR R 2

& OB

it B OB

[(FiA] (B4 [)
H &4 44 1B £ SF54 3H31H

(ECEEAE
[ZH=t)
SEZWAE
B BBt
TS 4
[ Haft4:]
Z B4
@ =gy
RN
[ zt]
ZHC FLE
I §
(R 2 ]
(%]
(N fH-22)
NG &y
(Z OffeE)
e E S
A
FR A E (F3)
ii§-GBLEJE =)
WIEEMRE (F)
HEEA B (FE)
& W #EEHE
Woa BED
FBL AFR(F%)
I I ¢
L FHOR ()
Z O
HEE G
[ErE]
(N fH-22)
NG &b
(Z DHfeE)
WHEES &
RS EAR R
R A%
Z DA
(EEE- L
- O
4 B R
G 3paNIEsy
s B
(e o2 ]
s ER R
ot 5 | BT 214 S5 1E 1o A PG 4 i
14 P T R S P R4
FIfT R bl 1 ke B 4
YR B St 1 ok B

1

112, 000
90, 000
5, 000

0

207, 000
40, 000
1, 267, 550

8

942, 000
30, 000
32,780

2,200
50, 000
66, 225
20, 240
40, 000
71, 000
21,416
34, 422

1, 310, 283

7,428
10, 000
1, 800

19, 228

1,514, 558

1, 310, 283

19, 228

1,329, 511

185, 047
0

0

185, 047

185, 047
834, 078

1,019,125




E A x B X
NPOVE A ] (L1 VR A A 2 2 [BA] (B4 [
S5 331 H HifE

(& PEDHEL)
[VEEh& PE]
(Hi4 - 7EA)
B & 1,019, 125
Bl - TAG B 1,019, 125
TENE PE S 1,019, 125
BrES R 1,019, 125
(BEfE D)

[VREhEfE]
TENAE G 0
AEAE 0
IERRI PE DHEL)
FITE il 1 e A 834, 078
143 T W P 7 el AR 185, 047
ERRMEAFT 1,019, 125

B i e ONEBRBA PE A5 1,019, 125




M E B &

NPOYE A [ (L1 B AT AR R4 [BiA] (B4 M)
SFn54E 3H31H HIfE

(& PEDHEL)
(s & e ]
(Hi4 - 7EA)
B & 1,019, 125
Bl - TAG B 1,019, 125
TENE PE S 1,019, 125
BrEL 1,019, 125

[FRE A ]
et A E AR 0
A e s 0

IERESPE 1,019, 125




FEFENEBDICHKRIBXRIFHAREE

NPOJE N[ (L1 A A 22 2 [Fi5A] (B : M)
H o444 47 180 = SF54 3H31H

| EEAIER)
[ZHEa%E]
E=B% e 112, 000
EIESE B e 90, 000
A4 5, 000
[ Eua 4]
= WE T4 40, 000
[FEEIE]
SZREE AR 1, 267, 550
(ERRLINNES|
ZHL FILE 8
e 1,514, 558
CESi-9iD)
[FE2]
UNEE-9)
N5t 0
(Z DR E)
BT 942, 000
O & 30, 000
FIRISIARZE (F535) 32, 780
B AR () 2,200
WG EME (F3) 50, 000
WHEES & (FFH) 66, 225
& fE (FEH) 20, 240
o= B EE 40, 000
B AR CEEE) 71, 000
wroE 21, 416
SCHATFECEE (F36) 34, 422
F D E EE 1,310, 283
FEE B 1, 310, 283
[E ]
UNEE-9)
N2 5 0
(Z DO %)
WHEES & 7,428
NS EARE 10, 000
ML N 1, 800
= Ot 5 19, 228
ETHE  F 19, 228
BEER 1,329,511
1 HAR B HE AR 185, 047
[ oA )
RE NS G 0
(&2 ]
rE s E R G 0
B 5 | AT 24 1A 15 R pE HE el A8 185, 047
1 H E A P TR 185, 047
T EA el 1 R S PE AR 834, 078

TR R R T R AR 1,019, 125




